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QUESTION 1

Which three components are part of the Vblock System Release Certfcaton Matrix? (Choose three.)
A. VMware vSphere hypervisor ESXi

B. VMware vSphere Server

C. VMware vCloud Director

D. VMware vSphere Client

E. VMware vCenter Operatons Manager

Correct Answer: ABD

QUESTION 2

During a deployment of a Vblock System 320, the customer has requested the installaton of multple third-
party management virtual machines in the AMP. Afer multple days of monitoring and data collecton, the
vCenter server and its respectve database server stop responding.

What would cause the problem?

A. Thin provisioned disk format caused the data store to run out of space.

B. The NFS.HeartbeatTimeout parameter was set too high.

C. The vCenterVirtualCenter.VimPasswordExpiratoninDays parameter expired.

D. The third-party applicaton services have stopped responding.

Correct Answer: A

QUESTION 3

Which three statements are correct about vApps? (Choose three.)
A. vCenter is required.

B. vVApps contain virtual machines.

C. vApps defne resource setngs.

D. vApps specify virtual machine failover.

E. vApps include virtual vSwitch confguratons.

Correct Answer: ABC
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QUESTION 4

Which steps should be performed to install PowerPathVE updates to the ESXi host through VMware Update Manager
(VUM)?

A. Enter maintenance mode, import patches, create the baseline, atach the baseline, and remediate host.
B. Disconnect the ESXi host, import patches, create the baseline, atach the baseline, and remediate host.
C. Import patches, create the baseline, atach the baseline, and install updates.

D. Import patches, reboot the ESXi host, create the baseline, atach the baseline, and remediate host.

Correct Answer: A

QUESTION 5

The PowerPathVE rpowermt server cannot reach a previously licensed ESXi host. Which two statements are true?
(Choose two.)

A. Multpathing functonality contnues to be available on that host and 10 contnues to be load- balanced across all
available paths.

B. The multpathing policy is automatcally reset to Basic Failover (BF) during the period that communicaton is not
available.

C. A new PowerPathVE license will need to be applied to the ESXi host afer communicaton is restored.
D. No changes to the PowerPathVE confguraton can be made untl connectvity is restored.

Correct Answer: AD

QUESTION 6

When cloning or creatng a virtual machine, storage DRS generates the fault Operaton not allowed in the
current state.

What will resolve this problem?

A. Increase |0 latency in the storage DRS cluster setngs.

B. Set storage DRS automaton mode to manual.

C. Increase the storage DRS utlizaton space.

D. Temporarily disable afnity rules while the operaton is running.

Correct Answer: D
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QUESTION 7

vSphere high availability has been confgured on a host cluster containing four hosts. All virtual machines
reside on Host 1 and Host 2. You want to ensure virtual machines will automatcally be migrated to atain
the best use of resources.

In the GUI, which acton must be completed at the host cluster level to accomplish this task?

A. Enable DPM.

B. Enable Fault Tolerance.

C. Enable vMoton.

D. Enable vSphere DRS.

Correct Answer: D

QUESTION 8

VMware vCenter Server provides which three functons? (Choose three.)
A. mult-pathing

B. cloning of virtual machines

C. VMware vMoton

D. template creaton

E. Actve Directory LDAP services

Correct Answer: BCD

QUESTION 9

A virtual machine appears as orphaned in the virtual infrastructure client but is online and functoning
normally over the network.

Which procedure would be used to recover the VM with no down tme?

A. Delete the virtual machine from the disk, connect directly to a host with the vSphere client, and import the VMX fle
into the inventory.

B. Use the vSphere client to connect to the host that the virtual machine is registered to and vMoton the virtual machine
to another host.

C. vMoton the orphaned virtual machine to another host that can access the data store where the virtual machine\\'s fles
are located.
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D. Delete and re-create a new virtual machine with the same name, guest OS, and IP address.

Correct Answer: C

QUESTION 10

Click the Exhibit buton.

General
:I Guest OS: Microsoft Windows 7 (64-bit)
| VM Version: 8
CPU: 1vCPU
| Memory: 512 MB
| Memory Overhead: 61.75MB
@’ I

Time: 9/23/2013 11:24:51 AM
Target: Lab

vCenter Server:  VCENTERS0U2

Referring to the exhibit, which two actons would allow powering on the virtual machine? (Choose two.)
A. Increase the memory reservaton on the virtual machine.

B. Decrease the memory reservaton on the virtual machine.

C. Add more memory to the ESXi host.

D. Increase the amount of memory allocated to the virtual machine.

Correct Answer: BC

QUESTION 11

What are three approved VCE security guidelines for use in the Vblock System? (Choose three.)
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A. Ensure that the vpxuser auto-password change meets policy.
B. Disable SSL for Network File Copy (NFC).

C. Enable the ESXi frewall on all hosts.

D. Confgure the remote Syslog for VMware ESXi hosts.

E. Use independent nonpersistent disks.

Correct Answer: ACD

QUESTION 12

What are two requirements when customizing a Linux virtual machine that has been deployed from a template?
(Choose two.)

A. VMware Tools must be installed.
B. The IP address must be assigned.
C. Perl must be installed.

D. Python must be installed.

Correct Answer: AC

QUESTION 13

During an upgrade engagement of a Vblock System, the customer realizes that they no longer have the credentals for
the service account that are being used for the vCenter services. Due to tme constraints, they recommend using the
user credentals of the system administrator untl the customer security team can be engaged to reset the service
account password. Afer the upgrade completes, the vCenter services will not start. Which log fle in the
CProgrambDataVMwareVMware VirtualCenterLogs directory contains informaton relevant to troubleshootng the
problem?

A. tomcatlogscatalina.date

B. vpxd.log

C. drmdump

D. vpxuser.log

Correct Answer: B

QUESTION 14
You are asked to setup several ESXi hosts so that they boot from SAN. Afer completng the second host

and powering it on, the ESXi image becomes corrupt.
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What is the cause?

A. The shared LUN is out of space.

B. A path to storage was lost.

C. A port on the Cisco MDS switch was improperly confgured.
D. The two hosts were confgured to share the same boot LUN.

Correct Answer: D

QUESTION 15

A vApp has been deployed with the wrong IP address informaton and must be updated. You have logged
into the virtual machine, and updated the statc IP address from the console, validatng connectvity. Afer a
system reboot, users are no longer able to connect to the system.

What is the problem?

A. The IP confguraton should take place in the vApp container.

B. vApps require DHCP assigned addresses instead of statc.

C. The segment ID was incorrectly confgured for the VXLAN.

D. The IP confguraton should take place in the vSwitch layer.

Correct Answer: A
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